MA125-8B Chapter 1-2 Practice
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Exercise 1. What is the domain of the function
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Exercise 2. Determine if the following functions are even, odd, or neither:
(a) f(z)=2z%+ 622+ 2
(b) g(z) = cos(z)
— 3 _
(c) h(z) = z® — bz. ) z C) }‘(‘*} - (—-’X)’) _ S.(:_ Q‘\
&) £y = 2= +C(x)"+1Z TS
A s +b¥ f+T

L% Lo & P ? ‘Q(ﬂ‘, e e

Siace

Q V'S '\e?LL-sr' Vet Mo QO(J

\:3 3(-’76) = oos(— ) = c0S () :3(3)
Een




Exercise 3. Calculate the limit
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Exercise 4. Show the the equation
323 — 42’ +2-1=0

has a solution between 1 and 2.
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Exercise 5. Find

z—2+ 22 — 4 and z—2- 22 — 4
r 'Y . ‘_..—'Y———"‘ = -00
—— (PO - Z.)““(
a2t 2zr-4 ~®x>2 , =
. Since ® ncar
Since A Neec T % 2 {mp lie58 2x~4 s

Zeo ‘gm“' ZY"{’o'

Exercise 6. If the position of an intergalactic spaceship is given by
s(t) = 9999t® + 543t

find the instantaneous velocity of the ship at time t = 15 seconds.
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Exercise 7. Differentiate the following functions:
(a) f(z) =3z —42? + 5z — 1

(b) g(z)

(¢) h(z)
(d) r(z)
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(e) w(z) = 2 tan(x)

(f) m(z) = 2L

(9) k(z) = sin(z cos(z))
(h) v(z) = (4z — 152°)*
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